e K« 7Ly RERE [F—T)

PRfE B f T TH15R (k) NEHY b)—2 5T
HEEHE H;ARUTFTHR ZIMAK 63N (Btk:568A - otk 5A)
HDCP LR : fTH80 #7780 ML
ELA—1: $ 200000 ’ 1/1
FEALIRE :  FEilm (EOIE) - BT CNEWIE) FIRI : 40 T4 7TH15A (k)
NEfL BMES Gl GROSS | HDCP | NET i % NEfL BNES H GROSS | HDCP | NET =
ALY 40 40 7.2] 32.8 41 {7 | A HE 42 42 3.6/ 2384
HEMEIE | )\ 3 HHE 44 44 9.6| 234.4 42 i | A3 3L 41 41 2.4| 38.6
30| B Ik 42 42| 7.2| 34.8 43 iz | i B 46 46| 7.2| 38.8
4 {3 48 48| 13.2| 34.8 m= #% 46 46 7.2] 38.8
5 fliE BE 47 47| 12.0| 35.0 -45% Pt EF 46 46| 7.2| 38.8
6 (0| ILE BE 43 43| 7.2| 35.8 46 fir |IUTF 45 45| 6.0| 39.0
7Tl Ex AR #E 43 43 7.2| 35.8 47 fir | KR 51 , 51| 12.0] 39.0
8 {7 I AHE 17 42 42 6.0 36.0 48 i | /v 50 50| 10.8| 39.2
9 fLPEO BE 42 42 6.0| 36.0 49 fif | = & 49 49 9.6| 39.4
10 fiz |7 s 42 42 6.0| 36.0 50 {if |[4FA< BLE 43 43 3.6 39.4
AT fL|B1E & 42 42| 6.0] 360 51 {ir | P =k 48 48| 8.4| 39.6
12 Hx BE 41 41 4.8| 36.2 52 {f | HENE W 48 48 8.4 39.6
13 fir | IR B 47 47| 10.8| 36.2| 53 {ir | AiTH M 48 48 8.4 39.6
14 AL | ik Br=FR 35 35| +L.2| 36.2/BG. 54 fir | P fh— 47 47 7.2] 39.8
15 finy I 2% 41 41| 4.8] 36.2 55 )| ShEE AT 47 47| 7.2 39.8
16 4if |35 #BR, 45 45 8.4 36.6 560 | W4 FHET 45 45 4,8| 40.2
17 0L | =% # 39 39 2.4 36.6 57 fir | W 44 44 3.6| 40.4
18 {ir |##3F W7 37 < 0.0 37.0 58 fiL | RATR T 48 48 7.2 40.8
19 i |AH Xk 43 43 6.0 37.0 59 {f | £k &L 48 48 7.2] 40,8
<20 {iF |4t 49 49| 12.0| 37.0 60 fin| ¥ BRI 46 46 4,8 41.2
21 fi | &F Fe—Ep 42 42 4.8| 37.2 61 fir | fEEF -7 54 54| 12.0| 42.0
22 (i) Al ke 42 42 4,8| 37.2 B Bl ¥ 46 46 3.6 42,4
2347 | LA R 41 41 3.6| 37.4 B Mg i 56 56| 13.2| 42.8
24 i |fEEF IER 47 47 9.6| 37.4
25 n | 88 =R 46 46 8.4 37.6
26 (i | A B5 46 46 8.4| 37.6
21 (L | B4 46 46 8.4| 37.6
28 iL |IUTF {=2% 46 46 8.4| 37.6
29 i [fex AR RBE 45 45 7.2] 37.8
30 {ip|kes Lt 51 51| 13.2| 37.8
31 fif | KA & 44 44 6.0/ 38.0
32 fi |[FHE IET 50 501 12.0| 38.0
33 foltex A ' 44 44| 6.0 38.0
34T [ 4B —i 44 44| 6.0| 38.0
35 fin| B EiB 5L 44 44 6.0 38.0
36N | KT EF 50 50| 12.0] 38.0
37 fir | LB 5L 43 43 4.8| 38.2
38 fir [3I1E EA 49 49| 10.8| 38.2
39 {if |PTfR Rt 54 54| 15.6| 38.4
40 |k BE 42 42 3.6| 38.4
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BLA—: B OeD®® 1/ 1)
FUBALIRE :  FEf(@EWVIE) - HEANF (UNEWIE) FRI : %0 74 TA16B (k)
711|Eg BhEA il GROSS | HDCP | NET % JIEAE BINE4 B GROSS | HDCP | NET ik
R e o 38 38 3.6| 34.4 41 (L | Al B— 46 46 8.4| 37.6
EIARE ] 50 50| 15.6| 34.4 42 fir | #HIl SEA 40 40|  2.4| 37.6
“3 fn| 8 ERE 45 45| 9.6| 35.4 43 {ir |#F #B 51 51| 13.2| 37.8
AL | el YERE 39 39| 3.6| 35.4 A4 hLy M RE 51 51 13.2] 37.8
RREEES 39 39 3.6| 35.4 45 {7 | B fh 44 44 6.0] 38.0
‘6 fLAEEA R 44 44 8.4| 356 46 if | H5H K& 44 44 6.0 38.0
(7 (L VIRAR ANB 44 44 8.4 35.6 47 {iL |l g 44 44 6.0 38.0
8 L) AT B 38 38 2.4| 35.6 48 {ir | 1)1 {#E 44 44| 6.0 38.0
9 LR EA 50 50| 14.4| 35.6 49 fir | HE E£H 50 50| 12.0| 38.0
A0 fir] B/ BEL 43 43 7.21 35.8 50 AL $EM & 50 50| 12.0| 38.0
(11 fip | oM kit 43 43| 7.2| 35.8 51 i | BE Mhen 42 42| 3.6| 38.4
12 {i |E9H 7% 43 43 7.2 35.8 52 {f | ML BEE 48 48 9.6 38.4
13 fif | B #¥fn 43 43 7.2] 35.8 53 fiL | A EE 42 42 3.6| 384
14 fif | R & 43 43 7.2| 35.8 b4 fir | BE & 41 41 2.4| 38.6
15 fin) KAMR % 49 49| 13.2| 35.8 55 fir| A 4 45 45| 6.0] 39.0
16 fr | %k BB 42 42 6.0 36.0 56 i | HHE H= 45 45 6.0/ 39.0
17 L | KE =R 41 41 4.8| 36,2 57 fL|#nA & 49 49 9.6 39.4
18 fif |F#E = 40 40 3.6| 36.4 58 fr |44 B 47 47 7.2| 39.8
19 (i [BTR FhE 46 46 9.6| 36.4 59 fL 8O A& 51 51| 10.8] 40.2
20 (L IEAM ETH 46 46 9.6| 36.4 60 fL| kM Fndk 44 44 3.6] 40.4
21 L | TR T 46 46 9.6| 36,4 61 i | 327k 3L 49 49 8.4| 40.6
(22 (D] EW A 46 46 9.6| 36.4 62 {if | /NIF FRELE 59 59| 18.0| 41.0
23 it |#EH IETR 39 39 2.4| 36.6 63 {if | #EE IE 46 46 4,8] 41.2
24 {7 |BERE B— 45 45 8.4| 36.6 B__B|#F %=k 44 44 2.4| 41.6
25 i lL#k ¥ 45 45 8.4| 36.6 B Mo g 55 55| 12.0] 43.0
26 i | luim BWF 45 45 8.4| 36.6
27 fi | REA Flk 39 39 2.4| 36.6
28 fiL | &)1l Fomk 39 39 2.4] 36.6
29 fif | =k e 39 39 2.4| 36.6
30 _fir| g5 [ 38 38 1.2 36.8|.BG
31 fif |Folg & 44 44 7.2 36.8
32 i | R Fokg 44 44 7.2] 36.8
e3 fird e e A ER 38 38 1.2| 36.8
34 7 | 41| B8R 43 43| 6.0| 37.0
35 fir | M@ EE 43 43 6.0 37.0
36 i | lIF BIE 48 48| 10.8| 37.2
37 4 {dbi Fngl 54 54| 16.8| 37.2
38 i | Bk IES 42 42 4,8| 37.2
39 i |BAR B=Hn 48 48| 10.8| 371.2
40 fir | PR Th 41 41 3.6| 37.4




